JS oS

418C

‘f’f le— 43-»3.,3!3 M;‘wu)b’ ‘Slhb)sé G$9939 QP}T

anidigey pas P ol 345 28yl WS ks 3 ke
IRNIR V (§22) plino plic
AvY 4

Ol ! ol (555402
Sy9bd g wlidixi (esle w)l59

JYCX QST - SURN Py

A8 IYe 1 9 955l lojsie J15mo WO 15w Slons
J J

W J15w 0 ylous g Slawi ¢ Sloial dlgo ¢ylgie

by B | oylos 31 | Jlgww olows Slxiel Slgo Ry
e Ys Yo b @ilie 9 (59l olasBl | ¥
vo X Yo Plwgy g gCupae | ¥
N vs Y. 639l Soreel g ey | F
110 5 Y. bwgy (wlibarel> | O
“‘A “9 Y' GGLM‘ @nuob) 9
o jlxo Ol cpnile 1 3lw! By15 i b p0d 9031 (!
| rem o e

S0 09y o 3 (oo b g il 50 om0 o3l (ot 39P00 b 68 B 9 A PN (ool 511 403903 T (57 2 3 o (19 S0 55 gy 2 40 S Ui g STl >

https://mastertest.ir



Y axio 418C )5&&— AYYH uS) ‘s"ti.wg) dmg.’

ol (39031 dunder 53 Lol ygua> pis A Jods ¢y 3 3OS Wil yuio 40 Ll 9 Slasinn )0 pus (ool )5 cdbgls

b 0g3 Juswo o ko (1093w ( JolS (BET b oo, g5 03l b e il
2 oAz 0 JyaSuS g 95 (Y lguw dx 80 g Aobiiwly YU cdwds 4 8959 )T (YL 40 Z a0 (gl o)l
oo ol 1) plasligonly a9 OY 5w 4z 380 wl> (s,

(gl Sl) (a9 ogos HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1- I have to say, I’m not particularly ................... in my own understanding of the true
nature of fear, even though I make my living drawing horror manga.

1) mutual 2) confident 3) possible 4) available
2-  We must stop seeing nuclear .................... as a dangerous problem and instead
recognize it as a safe byproduct of carbon-free power.

1) missile 2) arsenal 3) conflict 4) waste
3- My father has always been ................... with his money. I didn’t have to pay for college
or even for the confused year I spent at Princeton taking graduate courses in sociology.
1) generous 2) associated 3) content 4) confronted

4-  Even though a cease-fire, in place since Friday, has brought temporary ....................
from the bombardment, the threat the strikes will return leaves people displaced yet again.
1) relief 2) suspense 3) rupture 4) resolution

5-  What you’ll hear, often, is that you should .................. your dream; follow your
passion; quit your job and live the life you want.

1) undermine 2) partake 3) pursue 4) jeopardize
Nationwide, poor children and adolescents are participating far less in sports and fitness
activities than their more .................... peers.

1) astute 2) otiose 3) impecunious 4) affluent
It is said that “the EI” did not meet the historic criteria for being registered, as it
.................... the view from the street of other historic buildings and because the structure
generally downgraded the quality of life in the city.

1) gentrified 2) revamped 3) impeded 4) galvanized

PART B: Cloze Test

The first step in the process of becoming an Olympic sport iS .................. (8) a sport
from the International Olympic Committee (IOC). The IOC requires that the activity have
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administration by an international nongovernmental organization that oversees at least one
] 010) | AR (9), it then moves to International Sports Federation (IF) status. At
that point, the international organization administering the sport must enforce the World
Anti-Doping Code, including conducting effective out-of-competition tests on the sport’s

competitors while maintaining rules ................. (10) forth by the Olympic Charter.
1) to be a recognition as 2) recognition as

3) recognizing of 4) recognizing

1) For a sport be recognized 2) Once a sport is recognized

3) A sport be recognized 4) A recognized sports

1) set 2) sets 3) that set 4) which to be set

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Social psychology examines how individuals’ thoughts, feelings, and behaviors are
influenced by the actual, imagined, or implied presence of others. In essence, it can
provide insights into community dynamics, social interactions, and cultural influences that
shape rural societies. Also, understanding social psychology can enhance the effectiveness
of development initiatives by fostering greater awareness of social factors that impact
rural populations. At the core of social psychology lies the concept of social cognition,
which refers to how people perceive, interpret, and remember information about
themselves and others. This cognitive framework helps explain behaviors in social
contexts, such as conformity, aggression, and altruism. For instance, rural development
practitioners must understand how group dynamics influence community decision-making
processes. Research indicates that individuals often conform to group norms, which can
either facilitate or hinder their efforts regarding community development.

Another significant aspect of social psychology is the study of attitudes and persuasion.
Attitudes are evaluative judgments about people, objects, or ideas that can significantly
influence behavior. In rural development contexts, understanding how to effectively
change attitudes towards new agricultural practices or health interventions is crucial.
Theories such as the Elaboration Likelihood Model (ELM) highlight the importance of
tailoring communication strategies to engage different audience segments effectively.

The application of social psychology in rural development extends beyond theoretical
understanding; it informs practical strategies for engaging communities. For instance,
utilizing principles from social psychology can improve outreach efforts by emphasizing
shared goals and collective benefits. Techniques such as participatory approaches can
empower communities by involving them in decision-making processes, thereby
enhancing ownership and sustainability of development initiatives.

The underlined word “utilize” is closest in meaning to .................... .
1) employ 2) organize
3) collect 4) understand
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The underlined word “their” refers to ...........c........ .
1) practitioners 2) norms 3) processes 4) individuals
All of the following words are mentioned in the passage EXCEPT .................... .
1) cognition 2) innovation 3) altruism 4) attitudes

According to paragraph 2, which of the following best describes the Elaboration Likelihood

Model (ELM)?

1) A framework for analyzing how people interpret information about others in rural
communities

2) A model that focuses on group dynamics in decision-making processes in rural areas

3) A theory that emphasizes tailoring communication strategies to engage various audience
segments

4) A strategy for effectively promoting community involvement in development initiatives

According to the passage, which of the following statements is NOT true?

1) Social psychology frameworks can explain social behaviors like conformity and
aggression.

2) Social psychology studies show that social norms can affect community development
initiatives.

3) Social psychology primarily focuses on individual behavior without considering
group influences.

4) Social psychology can inform practical approaches to enhance community participation.

PASSAGE 2:

Rural sociology is a vital area of study that explores the social structures, relationships,
and dynamics within rural communities. This field examines how rural populations
interact with their environment, the challenges they face, and the ways in which these
communities adapt to social, economic, and environmental changes. One of the focal
points of rural sociology is the analysis of social organization within rural areas. Rural
communities often exhibit distinct social structures characterized by close-knit
relationships and a strong sense of community. These social ties can foster cooperation
and collective action, which are essential for addressing local issues such as community
development. Rural sociologists study these dynamics to understand how they affect
community resilience and development.

Agriculture is a central theme in rural sociology, as it serves as the primary livelihood
for many rural residents. The field investigates various agricultural practices, the socio-
economic factors influencing them, and their impact on rural communities. The
methodological approaches employed in rural sociology are diverse, encompassing both
qualitative and quantitative techniques. Ethnographic studies allow researchers to gain
deep insights into the lived experiences of rural residents, while surveys can provide
broader statistical data on demographic trends and social attitudes. By employing a
mixed-methods approach, rural sociologists can develop a comprehensive understanding
of complex social phenomena.

The underlined word “comprehensive” is closest in meaning to .................... .
1) thorough 2) superficial
3) narrow 4) partial
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According to the passage, which of the following statements is NOT true?

1) One of the areas of study in rural sociology is the analysis of social organization
within rural areas.

2) Surveys are not used in rural sociology as they do not provide data on demographic
trends.

3) Close-knit relationships in rural communities can inherently affect community resilience.

4) Rural sociology examines how communities adapt to social, economic, and environmental
changes.

According to paragraph 2, what is the purpose of ethnographic studies in rural sociology?

1) To investigate the social dynamics that influence community development

2) To analyze urban migration trends affecting rural areas

3) To collect statistical data on agricultural productivity

4) To achieve an understanding of the lived experiences of rural residents

The passage provides sufficient information to answer which of the following questions?

1) What factor can contribute to community cooperation and collective action in rural
areas?

2) What are the urban migration patterns affecting rural areas in different countries?

3) What role do agricultural practices play in the socio-economic development of rural
areas?

4) How do urban sociologists differ from rural sociologists in their research focus?

Which of the following words best describes the writer’s attitude to mixed-methods

research?

1) Indifferent 2) Skeptical 3) Approving 4) Dismissive
PASSAGE 3:

Rural management encompasses a range of practices and strategies aimed at improving the
quality of life and economic viability of rural areas. This field is critical in addressing the
unique challenges faced by rural communities, which often include limited access to
resources, infrastructure deficits, and socio-economic disparities. Effective rural
management integrates various disciplines, including agriculture, community development,
environmental science, and economics, to foster sustainable development. Community
involvement is essential in rural management. [1] Agriculture remains a cornerstone of rural
economies. Sustainable agricultural practices, such as organic farming and agroforestry, are
vital for enhancing soil health, conserving water, and reducing dependency on chemical
inputs. These practices not only improve farm productivity but also contribute to
environmental sustainability.

Training programs that educate farmers on these techniques can lead to significant
improvements in crop yields and income levels. [2] Infrastructure plays a crucial role in
rural management. Investments in transportation, communication, and energy infrastructure
can significantly enhance access to markets and education. Improved roads facilitate the
movement of goods and people, while reliable energy sources are essential for modern
agricultural practices and small-scale industries. Rural economies are often heavily reliant
on agriculture; thus, economic diversification is necessary for sustainable growth.

Encouraging the development of small businesses and promoting tourism can create new
job opportunities and reduce vulnerability to market fluctuations. [3] Training programs
aimed at enhancing entrepreneurial skills among rural populations can foster innovation and
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self-sufficiency. The management of natural resources is critical in rural areas where
ecosystems are often fragile. Implementing policies that promote conservation and
sustainable use of resources helps mitigate environmental degradation. Despite the potential
benefits of effective rural management, several challenges persist. [4] Limited resources
often hinder development efforts in rural areas where financial constraints are common.
Rural communities are particularly vulnerable to climate change impacts, necessitating
adaptive strategies that address these challenges.

In which position marked by [1], [2], [3] and [4], can the following sentence best be inserted in

the passage?

For instance, community-led projects in agriculture can lead to increased productivity and

food security while fostering social cohesion.

D[] 2) 2] 3) [3] 4) [4]

According to the passage, which of the following statements is NOT true?

1) Encouraging the promotion of tourism in rural areas can create new job opportunities in
rural communities.

2) Resource constraints often impede development efforts in rural areas where
financial limitations are common.

3) The management of natural resources is significant in rural areas where ecosystems
are often fragile.

4) Rural communities are not influenced by climate change, and adaptive strategies are
trivial in this regard.

Why does the writer mention agroforestry in the passage?

1) To suggest that agroforestry is the only sustainable agricultural practice available to
farmers

2) To highlight its role in enhancing soil health and promoting environmental sustainability

3) To argue that agroforestry is actually less effective than traditional farming methods

4) To emphasize that agroforestry requires more resources than other farming practices

Which of the following statements can best be inferred from the passage?

1) Rural areas will thrive solely through advancements in agricultural practices
without additional support.

2) Rural management requires a multifaceted approach to address the challenges faced
by rural communities.

3) The success of rural economies is primarily dependent on large-scale industrial
farming.

4) Community involvement is not essential for the success of rural management
initiatives.

What is the best title for the passage?

1) Challenges Facing Rural Communities

2) The Importance of Agriculture in Rural Economies

3) Strategies for Effective Rural Management

4) Promoting Economic Diversification in Rural Areas
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